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QUESTION 1

View the Exhibit and examine the structure of the products table.

PROD_NAME
PROD_DESC
PROD_CATEGORY

VARCHAR2(50)
VARCHARZ2(4000

NUMBER
VARCHAR2(20)
NOT NULL | NUMBER(6)
NOT NULL | VARCHARZ2(20)
_LIST_ NOT NULL | NUMBER(8,2) |
[PROD_MIN_PRICE NOT NULL | NUMBER(8.2) |

Evaluate the following query:

SQL> SELECT prod name
FROM products

WHERE prod list prig

(SELECT M= rod_list_price) FROM products

F _list_price <
LECT MAX (prod list price)FROM products))):;

What would be the outcome of executing the above SQL statement?

A. It produces an error.

B. It shows the names of all products in the table.

C. It shows the names of products whose list price is the second highest in the table.

D. It shows the names of all products whose list price is less than the maximum list price.

Correct Answer: C

QUESTION 2

View the Exhibit and examine the data in the PROMOTIONS table.
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PREOMOTTCMNE

PROMO TD PROMO CATEGORY PR?\J%?_S UBCATEGORY
—————————————————————————— ————I,-:-ﬁr:.ﬂ-'——————————
506 magazlne o Fdiscount

507 T+ gqeneral advt
508 newspaper discount

509 post gqeneral advt
510 post digcount
Sl radio : general advt
il newspap&i gqeneral advt
513 ncw._.p;gif?ﬂr discount

a5l4 mag&sine genseral adwvt
Sty newspaper digcount
5ls newspaper gqenseral advt

You need to display all promo categories that do not have \\'discount\\' in their subcategory. Which two SQL statements
give the required result? (Choose two.)

A. SELECT promo_categoryFROM promotionsMINUSSELECT promo_categoryFROM promotionsWHERE
promo_subcategory = \\'discount\\’;

B. SELECT promo_categoryFROM promotionsINTERSECTSELECT promo_categoryFROM promotionsWHERE
promo_subcategory = \\'discount\\’;

C. SELECT promo_categoryFROM promotionsMINUSSELECT promo_categoryFROM promotionsWHERE
promo_subcategory \\'discount\\;

D. SELECT promo_categoryFROM promotionsINTERSECTSELECT promo_categoryFROM promotionsWHERE
promo_subcategory \\'discount\\;

Correct Answer: AD

QUESTION 3

See the Exhibit and examine the structure and data in the INVOICE table: Exhibit:

INVOICE
Nane Nullz> Tvp ES_.{g:j}
e e e A g g e L T T T ____'!‘ ‘\\:'_ _______
INY_HNO NOT NULL 1L§EE:B€R(3]
INY DATE } E
CUST_ID . \f “ VARCHARZ (4]
INY_aMT ,-,-:E\-?:‘/ NUMEER (5 ,2)
(< i
. Voud

IV N0 LIRS \ﬁ'ATE CUST_ID INV_&4HMT
______ 3&‘ o e e e .y E g

[
1 “01-APR-07 A11) lo0a
2 01-0CcT-07 E1R 2000
3 01-FEE-0O7 3000
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Which two SQL statements would execute successfully? (Choose two.)
A. SELECT MAX(inv_date), MIN(cust_id) FROM invoice;

B. SELECT MAX(AVG(SYSDATE - inv_date)) FROM invoice;

C. SELECT (AVG(inv_date) FROM invoice;

D. SELECT AVG(inv_date - SYSDATE), AVG(inv_amt) FROM invoice;

Correct Answer: AD

QUESTION 4

View the Exhibit and examine the structure of the customers table.

NOT NULL

CUST_ID
CUST_FIRST_NAME
CUST_LAST_NAME
CUST_GENDER
CUST_YEAR_OF _BIRTH
CUST_MARITIAL_STATUS |
CUST_STREET_ADDRESE
CUST_POSTAL_CO

NUMBER (4)

VARCHARZ2 (20)
VARCHARZ (40)
VARCHARZ (10)

P

B 20
CUST CITY o = | NOT NULL | VARCHARZ (30)
CUST STATE NCE | NOT NULL | VARCHAR?2 (40)
COUNTRY NOT NULL | NUMBER
CUST_INCOME_LEVEL VARCHARZ (30)
CUST_CREDIT_LIMIT NUMBER
CUST_EMAIL VARCHARZ (30)

Using the customers table, you need to generate a report that shows an increase in the credit limit by 15% for all
customers. Customers whose credit limit has not been entered should have the message "Not Available" displayed.
Which SQL statement would produce the required result?

A) SELECT NVL(cust credit limit, '"Not Available')*.15 "NEW CREDIT"
FROM customers;

s e o
B) SELECT NVL(cust_credit_limit*.15,'Notg#ailable') "NEW CREDIT"

FROM customers: C’ﬁ“
NS

C) SELECT TO_CHAR(NVL (cust_credit_ L 't*.15, "Not Available')) "NEW CREDIT"
FRUOM customers; =

D) SELECT HVL{TO_CHAR{cust_creﬁlimit*.15} » '"Not Available') "NEW CREDIT"
FROM customers;
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C. Option C
D. Option D
Correct Answer: D

NVL Function
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Converts a null value to an actual value:

Data types that can be used are date, character, and number.

Data types must match:

?NVL(commission_pct, 0)

?NVL(hire_date, \W01-JAN-97\\")

?NVL(job_id, \W'No Job Yet\\")

QUESTION 5

The PRODUCTS table has these columns:

PRODUCT_ID NUMBER(4) PRODUCT_NAME VARCHAR2(45)

PRICE NUMBER(8, 2)

Evaluate this SQL statement:

SELECT *

FROM PRODUCTS

ORDER BY price, product_name;

What is true about the SQL statement?

A. The results are not sorted.

B. The results are sorted numerically.

C. The results are sorted alphabetically.

D. The results are sorted numerically and then alphabetically.

Correct Answer: D

the result is sort by price which is numeric and follow by product_name which is alphabetically.

Incorrect answer:
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A. the results are sorted

B. the results are sorted with alphabetically as well C. the results are sorted with numerically as well

Refer: Introduction to Oracle9i: SQL, Oracle University Study Guide, 2-2
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